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FEE‘
llowing IS NOT correctly |

1 Which one of the fo

? .

mat(%ssn'try) (c%p',:a ) |
(a) Morocco - $5ﬂi§

(b) Tunisia - Algiers

v ol -~ Bamako

(d) Cape Verde

2 Where was the Mitti Bachao (Save the Soil)

Movement started in India 7

(a) Thane, Maharashtra

(b) Mysore, Karnataka

(c) Darbhanga, Bihar

(d) Hoshangabad, Madhya Pradesh

3. Postmasburg and its adjacent areas of South
Africa is major producer of which of the following

minerals ?
(a) Uranium (b) Bauxite
(c) Manganese (d) Mica

4. Without green house effect, the average
temperature of earth surface would be

(a) 0°C (b) —18°C (a) 0°C by —18°C
(c) 5°C (d) —20°C (C) 5°C (d) -20°C
9. Match List — | with List — Il and select the correct 0. —| I - ﬁﬁﬁﬁ ﬁﬁq 1
anstver using the codes given below the lists gﬁa rﬁgﬁ !rg I ﬁﬁ"l _ il ‘é@!ﬁ % |
ist - | List - Ii N ' q |
(Mountain) (Country) 2?23)' Tt - I - i
A. Atlgs | 1. France/Spain A. TTed (&?‘l) '
B. Kalimanjaro 2. Ecuador ' : 1. T8 /T
C ChlmerZO = Tanzania B. mﬁf 7 Sﬁa{ W
D. Pyrenees 4. Morocco 2] ﬁﬁﬁ\_!h 3. ?Fﬁ’lTﬁIIT \
Codes : D. 9 4. &R ?
A B Cc D ‘ !
(z) 4 3 2 1 - A B C D
EC; 1 1 2 3 @ 4 3 2 1
: 2 3 4 1 o 4 1.2 4 \
d 1 3 4 2 ) 2 3 4 1
i d) 1 3 4 2
€ entire sequence of com :
successi munities that
. Sively change in a particular area are S. W i'? FNED 3; O U s wmw |
(@) Ecological sy i ’ b
(b) Sere - coosion (@) STRizaf srgshm o
(g) Commyn]ty dynamics (b) "
(d) Pyramid of biomass &) THe™ nfgeh
(d) %1 Tyufye
7. In Malays :
ysia, the ‘Kinta Valley’ |
yis fa
((3 ‘T“bber Production K |7 IR fepue oy urEg #
€a Production S 3IqTeq
(@) e Production | \/g; SR mi%q
(d) Coffee Production . (c) feq IqTeT ¥ ﬁ:rq
D (d) sraay -
3T % foru
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16. In human body, the digestion of protein begins in '
which of the following organs ? |
(a) Liver |
(b) Mouth
(c) Small intestine
(d) Stomach

17.  In the removal of which of the following officials

does the Parliament NOT play any role ?
1. Judges of the High Court
2. Judges of the Supreme Court

3. Chairman of the Union Public Service
Commission '

4. Comptroller and Auditor General of India

Choose the correct answer from the codes given
below.

Codes :
(@) 1and 2 only

(c) 1,2 and 3 only

(b) 3 and 4 only
(d) 3only

18.  Use of polished rice in human diet causes
following diseases

(a) Rickets
(c) Goitre

(b) Anemia
(d) Beriberi

19. The superintendence, direction and control of all |

elections to the Panchayats are vested in
(a) The Governor

(b) The Election Commission of India
(c) The District Panchayat Raj Officer
(d) The State Election Commission

20.  Which ofthe following vitamins is mainly responsible

for blood coagulation in human being ? I
(a) Vitamin K (b) Vitamin E
(¢) Vitamin A (d) Vitamin C '
21,

Which one of the following pairs is NOT correctly
matched ? I
(@) Interstate Council
(b) Finance Commission
(c) Administrative Tribunal

(d) Union Public Service
Commission

- Article 263
—  Article 280
=  Article 323A
= Article 315

RFL -1

16, W R S v Preferfaa § @ few s

17. Fr 3 A F-Q vl @ gent § T ) B
viftremT € &<t ® 7
1. 39 TS & g
2. I=IdH T & A
3. A, Y S A1 A

4. Y@ & s o meeEias

A2 A ™ g2 A wd s A
L T4
(a) haeT 1 9YT 2 (b) shadl 3 9YUT 4

(C) et 1, 29T 3 Vgaﬂ)%aaa

18. #Ha 3R # uiferw Rl &3 e & 3w @
F=faRga W & smar R
(a) H@T U
(c) ®ar

(b) TEFdTETT
(@) ofed

19. Wmﬁ%%qwﬁﬁaﬁnﬁﬁahﬁ%m

1 reiterr, frewm o frgsw fifeg e 2
(a) TSIUTA o

(b) WRd & fatew 3ma &
(c) Toen vemaa v i &
(9 T~a Tratem amam A

20. ﬂﬁﬁﬁﬁﬁﬁaﬂq—mﬁzﬁqn@mﬁm%m
% fore Rondrem 2 7

e T & (b) faerfim $
(c) ferrfim @ (d) fyarf <t
21.?&4’%@3@1&%@:—%1@@@%“'&%?
\(a) IF=risg fwe - BT 263
(b) for 3w - 3T9% 280
(c) worafreh =mranfeer -~ el 323 %
(d) &9 &1 Fa1 @M~ 3EeRE 315
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Consider the following statements about human | 22 @4 uferss & an ° Frefafad HUAT
bl‘ﬂin | ﬁﬁq s .
1_The brain is responsible for regulating the | s gea @ Frife 1@ % fore et # |
heart beat. , > a5 T F @ %erzﬂal
2. Itis responsible for balancing the body. , - Tr& , gﬁ Tﬂ*ﬁl [ A, |
Select the correct answer using the codes given | fr fea m %2 gii”{
below. 2 :
Codes : t (a) Fad 1 ﬁg
(@) Only 1 is correc 2
(b) Only 2 is correct \/“"1’('3)j i“a 31’!{5' > 3 @) 3
(c) 1 and 2 both are correct SR 1T @ 2Ed 3
(d) Neither 1 nor 2 is correct (d)
3. Which Article of the Indian Constitution describe | 23. Wiy G % BE-a 08 A AT
the Centra' Vigilance Commission ? . TN 1 G0 LAl 27
icle 26 i 8 (b) 3= 280
(a) Article 268 (b) Article 280 ) ITe8q 26 < 3wt
(c) Article 276 (d) None of the above | (c) aﬂ?@t 276 (d) aqﬁ'ﬁ
. o] ; » {3 ST B 7
4. Which of the following substances is obtained | 24. e 3 & F-|1 9g 9T H I
(2) A t{ei‘z (b) Bitumen I oﬁiﬁ"\/. (b) lQ'E”E“Eﬁ'_ 3 2 7
Asafoetiaa |
((?:3 Tincea! (d) None of the above | SALLTRTT (d) ST o
. | 3T FHEET 9
25 Consider the following Chairpersons of the | 25. TS Higal & faafafea faar
National Women Commission : ‘uﬁ‘lﬁm_:
1. Jayanti Patnaik 1. m?ﬁz;mﬁ ~ b
2. Mamta Sharma - Z. 13111?11
3. Dr. Girija Vyas 8 ?:,1 i =mE
4. Dr. Poornima Advani 4. 2. qfoimT 3rear
Select the correct chronological order of their | % frgfad &1 gdt Feged 9 il ™ %e |
appointment from the codes given below. g |
Codes : . L T4
(a) 2,1,3and 4 (b) 2,3,1and4 (@) 2, 1,334 (b) 2,3,13M4
(c) 1,3,4and 2 (d) 1,4,3and2 (c)1,3,43M2 (1,4 332
-6 Given below are two statements, oneis labelledas | 26. <l g1 %o fA ™ &, fomml | w1 A (A) gen
Assertion (A) and other as Reason (R) : @ ! HRU (R) FH&T T 2 .
Assertion (A) : Invert sugar is more sweeter than &HUA (A) W &1 3 adi U 3t Y
sucrose. | Bdl 2 |
Reason (R) : Invert sugar is obtained by the RO (R) - G T G F el T
hydrolysis of sucrose. | re fRen ST 2 |
Select the correct answer from the codes given 13 fai T e 3wt I %ﬁﬂl |
below. | Tz |
ey (A) 30 (R) 2t @t & @ (R), (A) 1 wé)
(a) Both (A) and (R) are true and (R) Is the ‘ \/@ et §
correct explanation of (A) ”im” o Tl R). (A) @ o
(b) Both (A) and (R) are true but (R) is notthe | (b) (A) A (R) 9 (R),
correct explanation of (A) * qTEAT T8 L B

(c) (A) is true but (R) is false |
A\ [AY ie falae huat (R) 1S true

(c) (A) "ed B 9 (R) TTeTd B

| (d) (A) TTeid ® Usd (RY @& R
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g Which of the following ngt
contains iron (Fe) ? .

(a) Chlorophyli b
(c) Keratin E d; gyd:t;
n

9. The equator does NOT pa:
the following Countries ? through which of

ral substances

1. Gabon
2 Somalia
3. Equatorial Guinea
4 Rawanda
Select the correct answer cod .
below. e Righes
Codes :
(a) 1and 4 (b) 2and 4
(c) 2and 3 (d) 3and 4
10 cTr;ge in the base sequence within a gene is
calle
(a) Mutation (b) Cloning
¢) Fusion (d) Breeding

11 Which Partofthe Constitution has the provisions
‘or Panchayati Raj System ?
a) IX (b) VI
(c) Il (d) IVA

1

Which of the following is used in fire alarm ?

(a) Photo cell (b) Water

(c) Solar cell (d) None of the above

<3 When was the third tier added to Indian Federal

System ?
(a) 1990 (b) 1991
(c) 1992 (d) 1993

Which of the following polymer is NOT a
thermoplastic ?

(a) Teflon (b) NBF?;BEI;:
(c) Polystyrene (d) Poly

T possible py a law of

llowing is NO ; o
- . the Constitution ?

Which of the
Article 3 of

Parliament under

15.

(b) Alteration of
f States

ﬂﬁ‘rﬁﬁm (b) WA
(c) Hfed (d) WrEwEa
g ﬁmﬁiﬁﬁﬁﬂﬁﬁ%ﬂﬁﬁﬁﬂ@w%@ﬂﬂ
ot R 7
1. &=
/i'_w%@ﬂﬁﬁi
A3 f3 M T A w@ I I |
L T4
(@) 13T 4 V,wfzafr{a
(c) 23R 3 (d) 33 4
10. W%maﬂwmﬁuﬂaﬁ?mﬂt
W (b) WieEqv
(c) EATIH (d) WA
1 wRum % R wm # e o e
gy f ™ 7
AR (b) VI
(c) Il G@IIJVEE
12 wmﬁﬁﬁﬁ%ﬁﬂﬂﬁ%mﬁwm
S ? ?
(a) 12 TS (b) 9T
(c) TR H Ad) I § W S TR
13 mwmﬁqﬁﬂﬁﬁﬁgnm?
(a) 1990 (b) 1991
(c) 1992 e 1993

14, Wﬁﬂﬁ-ﬂ@,@uﬁm@qﬂ%?
(a) TH ) Frind
(c) T (d) uiadH

15. B ffigd 3 A - ST ¥ 0T 3 % T
e, % T F G0 v TR 7

(C) Alteration of bou ndaries O
(d) Admission of new States
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27 Which region of the country conferred special
status under Article 371-J of the Constitution of
India ?

(a) Nagaland

(b) Hyderabad and Karnataka
(c) Maharashtra and Guijarat
(d) Ladakh

28. Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List-| List -l
(Metal) (Property)
A. Sodium 1. Good conductor
of electricity
B. Mercury 2. Liquid at room
' temperature
C. Silver 3. Poor conductor of heat
D. Lead 4. Can be easily cut with knife
Codes : -
A B C D
@ 2 3 1 4
b) 1 4 3 2
c) 4 2 1 3
d 4 1 2 3

29. Which one of the following is NOT correctly
matched ?

(a) Fundamental Duties - -  PartiVA
(b) The States - Part Vi

(c) Attorney General of India -  Part XIlI
(d) Services under the - Part XIV

Union and States

30. Match List — | with List — 1l and select the correct
answer from the codes given below the lists :

List - | List - Il

(Substance) (Use)
A. Blue Vitriol 1. Artificial rain
B. Eosin 2. Fungicide
C. Silver iodide 3. Red ink
D. Zinc phosphide 4. Rodenticide
Codes :

A B C D

@ 2 3 4 1
(b) 2 1 3 4
c 2 3 1 =
d 2 4 1 3

31. Which Articles of Indian Constitution are related
to citizenship ?
(a) Article 3to 10

(b) Article 4 to 11

(c) Article 5 to 11

(d) Article 6 to 11

Scanned by TapScanner
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mmﬁﬁhiﬁiﬁwﬁﬂi%?
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(b) ¥eTraTE 3R FARH
(c) WETTSg 3R T 3 :
(d) SI@@ ] (E
28. gt - | _ |1 & gafera e T g S | ((C
A3 R T e @ G I AL : | -
et - | gt - |l
o T 34. A
A. afgam. .:ﬁammw “
B. g 2. & a9 W ad c
C @}3-3““*!% . »
D. |1 ( T @ ! @ HE A »
el & »
L (
A B C D ;
@ 2 3 1 4
() 1 4 3 2 o 35. (
er 4 2 1 3 E
d 4 1 2 3 :
29, Frfifad § & #-u1 ©h wd gaferd TE R 7 )
(a) A oA . WMIV® :
(b) T4 — WV f
(c) WRA 1 HETAFETS! ~ ¥ X )
ﬂﬁﬂﬁm%mﬁﬁaﬁ — 9T XIV !
30. Fh - 1 A - 1@ e Ao e gl F ('
Tt - | gt - || :
() Eceeiy)
A. e gren - Hm aui (
B. 33MIfé 2. AT (
C. faet 3. AT T .
D. fore wiewge— 4. Fraerell (TSeTel) -
¥z ;
A B C D
@) 2 3 4 1
) 2 1 3 4
A 2 3 1 4
d 2 4 1 3 | .
31, A SR - I TRE A A R 7 | :
(a) FTSBG 3V 10 (b) HITIT4H 11 . (
W 5E 1 (d 6F 11 |
AT TR ) TR .
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32.

ich one of the f : |
:wlthetiq ? O"Dwmg Substances is NOT
(a) Fibroin
(c) Neoprene

33. Which is the largest Committee of the Indian

34.

39.

Parliament ?
(a) Public Account Committee
(b) Estimates Committee

(c) Committee on Public Undertaki
(d) Committee on Petitions ngs

According to the Report released by NITI Aayog
in December 2019 on ‘Sustainable Development
Goals India Index 2019-20’, the Uttar Pradesh. is

grouped under which of the following categories ? -

(a) Aspirant

(b) Performer
(c) Front runner
(d) Achiever

Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : The nature of Indian Political |

System embodies the elements of ‘continuity and
change'.

Reason (R) : The Indian Political System
contains the elements of the following political
system such as the modern style, the traditional

style and saint style.
Select the correct answer from the codes given

pelow.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

‘c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Whi lowing cities of Uttar Pradesh
is/a Iig I;o?:;rtg; ui;?c:e{:‘ me‘gHeritEgE City Development
and Augmentation Yojana (HRIDAY)"?

1. Varanasi

2. Mathura

3. Prayagraj

4. Ayodhya
Select the correct answer from the cod

Delow.

Codes :
(@) 1 only (b) 3 only p
(c) 1and 2 (d) 1,2, 3 and

es given

33.

RFL -1

| 32. Feafafed @ @ sh-ar $hm ggef 78 2 7

S BT

(b) ST
(c) faamfia (d) T

WRAT GEe 6 ged 91 afufy S-H1 2 7

_ia) i < aff

L™

=
w

35.

(b) STeher |t
(c) & 3usHA Aftfa
(d) arfaer afafa

fify 3 gro fegrax 2019 ® St ‘@da o
RERIREIG I 2019-20' 9T Sl frgid & FTHN

gusish
IR oW I FrAferfad anf & & fapgd arffed fa
TR 7
(a) 3mahTaft (Tedite)

MOT 3BT UGIH (THITR)

(c) 3mvft (%e TR)
(d) ST&d Uredehd! (TETER)

= € woe fed T 2, 5= 4w o1 YA (A) Y

&L I R (R) FaT T 2

FUA (A) : YR Uaifas sxaryr $ ysfa 1

foratar wa uftgd & dca qd €9 § 9 91d 2 |

&1 (R) : YA Ui sxgen 4 fa= usHifas

SN S8 -3y Nefl, worarrTg seft 9u1 H4

9t & dcd GETEd 2 |

o fod ™ %2 @ wdt 3w g |

C A

(a) (A) 3 (R) TH1 @&l & 791 (R), (A) 1 &#
ST AT 2

(b) (A) 3 (R) 21 |& & W (R), (A) I Geh
STET T8 Al 8

AET () T R T (R) Terd 2

36.

(d) (A) 7Terd B 9 (R) &t 2

I ye¥ & Frafefga 7 4 4 F9-a1/38 faugg
e forshrd 3T g A (388) & r=ia wifire
feme mma /femd 3 B2 7

1. SROOTH?

2. W
3. WA

4. AT
H= fed ™ %e | @ 39 gfw

Fe
(b) whad 3

(a) had
(c) 132 \/mmz,saﬂu
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37 What can be the minimum strength of Council of | 37 H & 3 7
Ministers including Chief Minister in the States 7 e o1 8 FHdl & 2
(a) 10 (b) 1
(a) 10 (b) 12 - L 14
(c) 13 (d) 14 ()
freTqd T deh TE
38, What should be Total Fertiity Rate (TFR) of a [ 38. 5o & MG "0 o0 oo,
population in order to reach at the replacement el Jod & (21.TH. 3N
(Ie;re-:ll of fertility ? (a) 1.0 (b) 1.6
a) 1.0 (b) 1.6 d) 2.3
(c) 2.1 (d) 2.3 \/u:ﬂ Z1 (d)
| aate <A 3 “afaur & AHOd g’
39. The Supreme Court of India enunciated the doctriné 39 ;ﬁﬁ & e (
of “Basic Structure of the Constitution” in T 1067 & (
(a) The Golaknath Case in 1967 (a) THETHATY A1Q i
(b) The Keshavanand Bharati Case in 1973 ) HIEIFE T 4TS 1% [ (;
(c) The Shankari Prasad Case in 1951 (c) Frehtt I TG 1951 1 ! | (b
(d) The Sajjan Singh Case in 1965 (d) g faE a1 1965 H N |
- et 35 o 3g Pt @ @ A i
40. Which of the following methods has/have been | 40. HRd q el % HFAH 8] _ |
used to estimate poverty in India ? faferett a7 W fapar o1 1@1 2/2 7 L 3
1. Head Count Ratio 1. fagr o fafy ‘* (d)
2. Calorie intake 2. heAlll Ugul 45 G
3. Household Consumption Expenditure 3 qrfEies 399N S , s
;. IF’F.-r Capita Income | 4 ufy safdq 379 4 :2 :u
beelzit the correct answer from the codes given f3 fedt T e 3 T IW @EFQ | : . it
Codes : ®e: i :i?: :
(@) 2and 3 (b) 1,2 and 3 (a) 2 3 3 (b) 1,23 3 ; Seleff
(c) 3 only (d) 1,2, 3and 4 (c) a3 T 1,2, 3 3R 4 prats
- . , F : Code:
41. Which one of the following is NOT correctly | 41 F=fifed § & #i7-ar v w& gufora 78 2 7 | W (@) s
matched 7 FEDT 39A - GUF AH U s [ J
(a) Article 39 A - Equal Justice and free ﬂ i ‘ = i ; i
legal aid : BOSIDRGEE \ (b) Bot
(b) Article 40 — Organisation of Village (b) 3d=s< 40 — Y19 9=91Id! 1 7134 o | corl
Panchayats (c) 3=8% 44 - HHMF TN Gl (c) (A)
(c) Article 44 — Uniform Civil Code Eﬁtﬂ | _ |
(d) Article 48 — Separation of Judiciary (d) " - W R2BEAREIRED { (@) A
from Executive Y JYaehivl | 46. With ref
a = the follo
42 With reference to ‘Ayushman Bharat Yojana' which | 42. ‘3™ WA AT & H<d H frafafes § @ { 1 "HAL
of the following statement(s) is/are correct ? HIH-H/H YT G 2/8 7 { " Minie
1. This Yojana provides free health insurance 1 98 95 s b « {
of Rs. five lakh per person. Emd?ﬁ;% ﬁﬁﬂ_{j&; CITE 94 T g J > ;‘fﬁﬁ
2. The expenses incurred in this Scheme o e e _ { " Pare |
(Yojana) is shared between the Centre and 2. S8 191 H BH 9T &9 | &g 3R U= &t | Select the
State in 60 : 40 ratio. YTIGRT 60 : 40 % 3H91d 0 &It 2 | # Ealon
Select the correct answer from the codes given A2 fed ™ % @ w5 s gfiu | 3 i ft
eyt T (2) 1 only
(a) 1 -:m.iy (b) 2 only (a) . (b) =hdet 2 f (0} Bt 5
(c) Both 1 and 2 (d) Neither 1 nor 2 AC) 13 23 (d) @ 198 2 [ D
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43. Consider the following statem
of Attorney General of India -

1. The President shall appoint a person who

ents in the context

Is qualified as to be a
Supreme Court.

2. The Attnrngy General shall receive such
remuneration as the Parlia

Ppointed a Judge of

ment ma
determine. 3
Select the correct answer usin th '
ec
i g odes given
Codes :

(@) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

44, The mgin objective of sustainable tourism is
(@) To increase the number of tourists

(b) To manage mass scale tourism and small
scale travel

() To manage tourism and environment while

maintaining cultural integrity and ecological
processes

(d) None of the above

45. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : Indian federalism is called ‘Quasi-
federal'.

Reason (R) : India has an independent judiciary
with power of Judicial Review.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the

; correct explanation of (A)

5 (c) (A) is true but (R) is false

(d) (A) is false but (R) Is true

46. With reference to the 'HAUSLA — 2018’ which of
the following statement(s) is/are correct ?

1. '"HAUSLA - 2018’ was organised by the
% Ministry of Women and Child Development,
i Government of India in New Delhi.

. N 2 It was National Festival for Children of Child
Care Institution. |
Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

grym
i i R

(b) 2 only
(d) Neither 1 nor 2

RFL -1

43. WRA & HETAIRETE & geedf #f fymfufiga #udl ©
ﬁlﬂ'l’(ﬁﬁ'&;:
1. Tsgufl forell 08 safda <1 Frgfda som <
ﬂm%m%wﬁﬁﬁﬁ%ﬂ
I

2. HEIRIEATE! 31 urfisfies yreg sum Al §8G
auTiid L |

A fa 7 % ¥ v 3w gho |
%
(a) A 1 TEt B

(oY hadl 2 &l B
(c) 1 31 2 21 w&t 3

COEGIBER PE:GE:

44. GNER (FRASE) THeH 1 q&T 30 8
(a) wdewni i T | gfg
(b) &2 Y9 9T weq 3 oy 9 9T ATAIA I
Y& Y T
S W gY e 3R gafaror yary Al
(d) 39%d | | I3 81

45. 12 Q1 wy fea @, 599 A v 1 FYF (A) Y
gat F HAV (R) FaEl T R
HUA (A) : WA G SGEYT 6l HY-GaTene
el SATdT 2 |
&N (R) : YA H U a3 AU 8 54|
=TT g &1 fUEr 2 |
A= T3 ™ %2 § 8 ¥ IT g |
Fe
2 (A) 3T (R) <1 |8l & 31 (R), (A) i @&l
~ T HAT B *
(b) (A) 3 (R) GHi |&l & 9T (R), (A) $1 §&)
AT T@l Ll 8
(c) (A) & ? W (R) TIefd 2
(d) (A)TTeTd 8 9% (R) & 2

46. ‘e - 2018 % wo H Frferfga % & Sh-w /3y
wY4 WEl 2/8 7
1. '8 — 2018’ 1 HRSH 9igeT v w19
faehra TaTe, E SR gy 8 feaeht 1
feraT TR o1 |
2. 98 S=1 ! CE-1@ A dredl e § g5
&I U Icad o7 |

f= fea M e @ vt 3w i |

I |

(a) Had (b) ad 2
ey 1 32 g (d) Ad 178 2

i

i _;d.‘..-.._ = 3 - i N
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47, Joint sitting of Lok Sabha and Rajya Sabha can
take place to resolve deadlock over

(a) Ordinary Legislation

(b) Money Bill

(c) Constitutional Amendment Bill
(d) Appropriation Bill

48. India aims to achieve the 5 trillion dollar

economy by
(a) 2022 (b) 2024
(c) 2026 (d) 2030

49.  Which of the following gave legal basis to extra-

ordinary powers exercised by the Government
of India during Lockdown ?

1. Mental Health Care Act, 2017

2. Disaster Management Act, 2005
3. Enemy Property Act, 1968

4. Epidemic Diseases Act, 1897

Select the correct answer from the codes given

below.

Codes :

(@) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1, 3and 4

90. Human Development Report 1997 introduced
the concept of Human Poverty Index (HPI) but
Human Development Report replaced it with
Multidimensional Poverty Index (MPI) in the

year
(a) 1999 (b) 2005
(c) 2010 (d) 2015

91.  Match List - | with Llst — Il and select the correct
answer using the codes given below the lists :

List - | TR List - II
(Article) ~ (Provision)
A. Article 61 1. Removal of Deputy
_Chairman of Rajya
- Sabha
B. Article 67(b) 2, Impeachment of
 President
C. Article 94 3. Removal of Vice-
President
D. Article 90 4. Removal of Speaker
Codes :
A B C D
(@) 2 4 3. ‘W
(b) 3 2 43 Y
(c) 2 3 4% 4
(d) 4 1 3 2

RFL - |

47, Freiferfiad i & fe o TRy g1 O 3 o g

3 T T ) g Aok @ whd R 7 i
(a) G fadas .
(b) u fatiae

(c) "aufye Gunya fadaes

Jﬂ)ﬁﬁﬂﬁﬂﬁiﬁw

48. WNq 5 feform grem srdeyawe 1 ¢&a % 9% yrg

49.

v(nne-ﬁu (d) 1,33 4

50.

51.

AN T LT T B 7
(a) 2022 AB) 2024

(c) 2026 (d) 2030

TAIRESIIA’ o QU WA TR & G e FTHTHTT

et 1 faftes anur fisfafea 3 @ fe weE
ST B3 7

3
1. A By HI UFe, 2017
2. fesmex Msmite wae, 2005
3,

4. vfushis fesfios vae, 1897

A fed ™ $e @ wd 3w gfio
2 :

(a) 1,2 3R 3 (b) 2,33 4

qra Tt geErehie (T9.91.371%. ) ! rEaune qrag
faehrer fedié 1997 & weqa 1 i, e Wi Fyarm

faré 3 3@ ATt T g (v b A
fr=fafea @f%‘ﬂaﬁﬁmﬁﬂﬁ;ﬁ)?m

(@) 1999 A 2005

(¢) 2010 (d) 2015

i
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Assertion (A) : GOVel‘nme :
n
‘National Infrastructure p; t has launched the

of 2020-30.

Reason (R) : The ob

_ Jective of NIp | ,
equitable access to infrastryctyre fc: :i:: Provide

Codes :

(a) Both (A) and (R) are trye ang (R
correct explanation of (A)

(b) Both (A) and (R) are true pyt (R) is not the
correct explanation of (A)

(c) (A) Is true but (R) is false

(d) (A) is false but (R) is true

) is the

On which of the following dates, Constituent
Assembly of India adopted the National Flag ?
\a) 22 January, 1950

\b) 24 January, 1950
(c) 22 July, 1947
(d) 22 July, 1948

With reference to the World Bank’s Ease of

Doing Business Report, which of the following

statement(s) is/are correct ?

1. In Ease of Doing Business Report 2020,
India’s rank is 63.

2. India ranking for Ease of Doing Business in
the year 2019 was 77.

Select the correct answer using the codes given
Delow.

Codes :
(@) 1 only (b) 2 only
C) Both 1 and 2 (d) Neither 1 nor 2

In which of the following places the Bio-technology

Park is located in Uttar Pradesh ?
a) Kanpur (b) Ghaziabad
'C) NOIDA (d) Lucknow -

-imit of investment for outstanding Gﬂfﬂorﬂte ?”:t
or Foreign Portfolio Investment in Union Budg
2020-21 has been extended upto

3) 9% (b) 10%

C) 12% (d) 15%

-11-

RFL — |

52. A T %o fl i §, fo} @ w1 FUA (A) T
GE 1 HRT (R) T T R
HU (A) | T glamra argaersa (T9.31%.91.)
R g 2020-30 Y aafy ¥ fon smey Rl
TR |
HROT(R) : U378, F. 7 Iegg @it &t g9H gr=rTd
GIERIR T
A= f@ ™ %z @ v 3w gf |
L T4

(AR T (R) T wwa § 3 (R), (A) 1 HE
ST T 2 |

(b) (A) @uT (R) gHi |ed & W (R), (A) 6! 4l

SATEIT T8 Ll 8
(€) (A) ¥ 8 Tt (R) T 2
(d) (A) TeTd 8 9% (R) @&l 2

53. WA ht wfaur qwr 3 frafafes 0 @ g fafy =i
TS &l AT 7
(a) 22 SHadt, 1950
Mof 24 S9=lt, 1950
(c) 22 T8, 1947
(d) 22 TS, 1948

54. fawa a% 61 39 % g3 faew o & w4
fFrefefad weai 8 & SF-T1/8 w97 w8 2/ 7
1. 91 3% g3 fasmw frdté 2020 # s &1

6391 TUH § |
2. 99 20199 §51 316 g0 faoma § wng =
77 91 TE o7 |
4= fea m %z | v I gfo
L A
(a) I 1 (b) haet 2
ot s 23 (d) AT 1T A 2

55. I e H -3 wrdh Pt v
A et R 2 7

() HH ) RIIEDIC -
OIS (d) TETH
56. H1 W9 2020-21 F AT IHL FURE ate i
faceft adwiferat faw 6 g =g & wh 2
(a) 9% T (b) 10% d%
(C) 12% d=h l/(‘1."_1) 15% dsh
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itorin
57. The Development, i gress of long term

58.

59.

61.

below.

Codes :

(a) 1 only (D) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

The concept of ‘Ecological Transition’ was first
used by

(a) Elton (b) Bennett

(c) Berkeley (d) Ratzel

(d) It has a monthly minimum assured pension

With reference to the programme “NIDHI” which
of the following statement(s) is/are correct ?

2. Its aim is to financially support 20 students

Select the correct answer from the codes given

Office, which monitors the prog
policies in an attached office under

(a) Prime Minister Office
(b) Ministry of Home Affairs
(c) Cabinet Secretariat

(d) NITI Aayog

— 11 and select the correct

Match List — | with List velow the lists

answer from the codes given

List -1 List =1l
(Scheme) (Launching Year)
A. P. M. Jan Arogya Abhiyan 1. 2015
B. P. M. Vaya Vandan Yojana 2. 2018
C. P. M. Rojgar Protsahan 3. 2017
Yojana
D. Swachh Bharat Abhiyan 4. 2014
Codes :
A

A anAnND

Which of the following statements is NOT correct
for National Pension Scheme for Retail Traders/
Shopkeepers and Self-employed persons ?

(a) Those who are in age groups of 18 to 40
years are eligible.

(b) Their annual turnover should not exceed
1.5 crore rupees.

(c) National Pension Scheme's member are
also eligible.

of Rs. 3000.00.

1. The programme of “NIDHI” was started for
students to begin start ups.

for start up in each year

-12-

57. faerd, FHE IR T gty EE

fifa &1 e w1 R, FrafRes 3

(b)q’sﬂ‘iﬁ‘lﬂ
(c) gfaarea
\/(,dj’?ﬁﬁ’iaﬂ?ﬂﬂ
58, gl — | 1 g — 1 A gafera Al o
fra fod 1 %2 8 9 IW ghu
gt - |
(1)
A LR, S9N AN 1. 20
B. f.uq. 99 d&T AN 2. 201§
C. dl.un. UM Nedred NI 3. 20
D. T WId A . 4. 204
F2 : '
A B C D
(@) 2 3 1 4
AT 1 2 3 A4
(c) 2 3 4 1
d 2 4 3 1

59. fr=fafiad # & 9 -w1 wu7 gau sl /e
3N UATRETe SAfFaat & o sy v i
& a it o HqE A R 7
(@) 18 8 40 94 31TY a7l & <N 3 Wi # |
(b) 3! aiffes A9-24 (AN T 1.5 %
g 3rfas 9 8 |
(c) U U9 ST & Heed 36 9 2 |
(d) 39 3F=Td ®IAT 3000.00 1 Hifke T

gfafeaa 2 |

60. ;T%?W%mﬁﬁmﬁﬁﬂq—mﬂﬂ
/8 7
1. FfY wrdey ol % fou wié o g W™
T T @
2. 3HFT I 20 BE F w8 Y ¥y Y
fafra weraar e 2 )

ﬁﬁﬁ@ﬁﬁaﬁmqﬁm

!

(@) shad (b) ad 2

<) 1 3R 2 3 (d) A 179 ¢ 2
61 ‘WW‘W%WWN

TR

(@) TFed g (b) 42 T
k&) Tt g (d) EAA T
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62. Which one of the fol

RFL - |
Mowing is
085 {oun NaUIBMY i the gymggon 2 9% house | g e # & w1 s s e 8 e
(a) Mt r:;gen oxide (1 Carbon dioxige H 9T AR Ao v w2 2
C) T
3. Generally, SNvironment nb . -
following categorieg Which am. Classified as | 63 THIq Wi Y i g & arfea o =i
is NOT a Part of such catego ?I"IQ the following T ® | Prafefige § @ <9 U T Sl
(a) Operational Environment H AN THR ?
(b) Physical Envimnment ) = wtam *
(c) Cultural Environment (b) %ﬂ%m TatER
(d) Biological Environmen (c) ¥rehfereh Tafew
t (d) Sahra watam
64. Given below are two statem .
as Assertion (A) ang sae! :sn;{sé :::nlﬁ( éa;t:,eﬂed 84. AN Q Fm A A &, el A v B Fw (A) AW
Assertion (A) : The Union Budget 2@0_21 T R F (R) Far ®:
has focused on Rural Development with aim of T (A) : F T 2020-21 # H ) 3173 A
doubling farmer income. FE F I F Y I REE W EAEA
EE?:;IL L(JI:) é ;I‘*he 16 Action Points announced S mn 2
get is centred ar ' fears

Irmgation and rural developmgnli,nd W | TR (R) - 2 # it 16 T Hrisn ﬁ

Codes :

(@) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A) is true but (R) is false

(d) (A) is false but (R) is true

I

55, Which of the following are the impacts of Global
Warming ?

1. Rise in sea level

2. Melting of glaciers
3. Spread of diseases

4. Bleaching of Coral reefs

Select the correct answer using the codes given
below.

Codes :

\@) 1,2 and 3 only

(b) 2:and 3 only
(€) 1,3 and 4 only

(d) 1,2,3and4

The Travel and Tourism Competitive Index (TTCI)
'S released by

\@) World Bank

\D) International Monetary Fund
\©) World Economic Forum

mmﬁm%agﬁm%%ail
ﬁﬁﬁﬂﬁmwmwm\

E T4
(A) 71 (R) T T & 7t (R), (A) Y o)
vm ST a1 B

(B) (A) T (R) gt = # g (R), (A) ) w@)
AT T8 T R

(€) (A) ¥ ? W (R) e 3
(d) (A) Ted R T (R) Ty 2

s

(@) a1, 2 3 3

(b) ¥awt 2 3w 3
(C) %ae 1, 3 3 4

yﬂ\,z,uﬂu

66. Eamgfmuﬁﬁrﬁmmww.am .
I foran e 2 -

(a) fowa &= g

9) United Nations Development Programme
D

A3
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67. Arrange the following events in chronological
order and select the correct answer from the
codes given below :

| Rio Earth Summit

|I. Publication of Brundtiand Commission Report
IIl. Enforcement of Montreal Protocol
IV. Publication of “The Limit to Growth’ Report

Codes :
(a) I, IV, 1L, 1l (b) IV, 11, 1, |
(c) IV, 1L 1L (d) IV, 1, 1, 1
68. Q:m sider thg following events and arrange them
in chronological order :
1. Establishment of NABARD
2. Self Help Group Bank Linkage Programme
3. Kisan Credit Card Plan
4. Establishment of Regional Rural Bank
Select the correct answer from the codes given
below.
Codes :
(a)4,1,2.,3 (b) 4,2, 3,1
(€)1,2,3,4 (d) 4,3,2, 1
69. The National Chambal Sanctuary does NOT fall
in which of the following States ?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Haryana (d) Rajasthan
70. With reference to the Skill India Campaign, which
of the following statement(s) is/are correct ?
1. Prime Minister had launched the Skill India
Campaign in July 2015.
2. The main objective of this Campaign
was to train India’s Youths in information
technology.
Select the correct answer from the codes given
below.
Codes :
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

71 National Clean Air Programme has been launched
by the Central Government in the year
(a) 2018 (b) 2017
(c) 2020 (d) 2019

72. The rulers of which of the following dynasty have

been called as ‘Shriparvatiya’ in Puranas ?
(a) Vakatakas (b) |kshvakus

(c) Shaks (d) Kharvelas

14-

RFL-| .

67. Tr=fafad gemafl = FregHEs w9 1 ey
Hifo 7y A9 ol R g A T I

|. Tt gedft frgt wiem

. Fedvs FE fEr 1 e i
I, Hf=ATe WIeehia 1 Jaadq
Iv. g fafie z my fard =1 weheH
% :
(@) 1, IV, 11, 1i (b) IV, 11, 1, | :
(c) IV, 1L, 11, | (d) IV, 1,10

68. frafafiga gemaii W fa=m Hifs 3k 3=
FTAHATIHN SFafeud HifT ;b':l?
| e B
2. Tl WEA] TR 1 Aeh forehal HTdshH :
3. forem shfge &1 Ao
4. &=y urior s & wUYAT

2 fodt 7 e A w3 g |
wg_)‘::'::«123 (b) 4,2,3,1 |
“)(f:) 1.2.3,4 d) 4 32,1
69. TG Trae 3nvaned f=fefad ® | fva =8 =
fecar =i 2 7
(@) I T (b) HET W&
ygf’cawn (d) TE™

70. YA WA IAREA F g § Frefefas 18 sR-a/A
U9 WEl B/8 7
1. I WA A 6 IEITE TUHE |
s 2015 1 i &t |
2. 38 AWM H &I ILIF WG & A3 H
o1 dehATeh H WHTiEd o o |

2 e M %2 8 wd IW g |
L
(a) Had 1 (b) &ad 2

(c) 1 3™ 2 g vm“:rahqﬁrz

71, U WS A FEHH H5 G U e d
gy feran T B 7 :
(a) 2018 (b) 2017
(c) 2020 AL 2019 1

n  Frafefied § @ Re@ 9w % Wt @ g 4 2
sfqddia w8 TR 7 |
(a) ATHTH AS) &
(c) T (d) TR
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73. Which ofthe folluwing Co

75

a poverty line baseq q MMittee

exclusively ?

(a) Alagh Committee
(b) Lakdawala Committee
(c) Tendulkar Committee
(d) Rangarajan Cﬂmmittee

alr €quirements

(b) Administrative Management
(c) Construction of roags
(

d) Revenue management

Which of the following indicators is NOT used to
calculate Human Development Index (HDI) ?

(a) Life Expectancy
(b) Education

(c) Per Capita Income
(d) Social Inequality

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List — | List - II
(Mahajanpadas) (Capitals)
A. Matsya 1. Mathura
B. Kuru 2. Potan
C. Sursena 3. Virat Nagar
D. Asmak 4. Indraprastha
Codes :

A B C D
(a) 4 2 1 3
(b) 3 1 4 2
() 3 4 1 2
(d) 2 3 4 1

The idea of ‘Cultural Poverty’ was given by
@) Oscar Lewis

D) Gunnar Myrdal

\C) Aashish Bose

S rEcgmmended I

\d) Amartya Sen

RFL - |

73, Preafofes affidl § & Ry 9@ das-del @l

AR ¥ IR T e T 5 i fF 2 7
(a) 3Fea |fifa

ALY TTehgaren afufa

(c) dgeret |fafa

(d) TR gt

74. W o § wiEms aifer Fraffaa § | f6d

87 ¥ grafd o 2
(a) A9 3N i
(b) SEITET Ya-4+
(c) |l Fmfor
AdT TS Y=o

75. frafeea gaeiet & & S-a1 9a faemm gawh

(@9, 2318, ) 6t vEr o wfefea =& e A @ 2

(a) SAta weamSm
(b) fova
(c) uid =afeq 31
l/wj'mn'rﬁmmmm
76. T — | H1 g - || § gafea Hifve aur gt
ﬁéféﬁﬁ@ﬁﬂﬁmgﬁq:
gt -~ | it - I
(FETTae) (e
A. TR 1. "YU
B.%& 2. Ut
C. Y&+~ —3. faream
D. 3v9& 4. U
F:
A B C D
(@ 4 2 1 3
b) 3 1 4 2
ey 3 4 1 2
d 2 3 4 1

77. T 6 qEpfa’ H1 faar weqa fean m

(@) IR TFH G

(c) 3msfty =19 g
(d) 34 |9 g

P
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78. Given below are two statements, one is labelled

79. During the mid 80’s decade of twentieth century,

80.

81.

as Assertion (A) and the other as Reason (R) :

Assertion (A) : We have much more information
about Cholas than their predecessors.

Reason (R) : The Chola rulers adopted the
practice of having inscriptions written on the walls
of temples giving a historical narrative of their
victories.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

the negative aspects of development were
discussed at large. Which one among the
following was NOT such important ?

(a) Degradation of natural resources

(b) Environment pollution

(c) Politics and Development

(d) Displacement and Rehabilitation of masses

Which of the following Indian Archaeologists first
visited ‘Bhimbetka Caves' and discovered prehistoric

significance of its rock paintings ?
(a) Madho Swaroop Vatsa

(b) H.D. Sankalia

(c) V.S. Wakankar

(d) V.N. Mishra

The discussion on ‘Sustainable Development was
started after submitting a report on environment
to the United Nation in 1987. That report was

(a) First Report on Climate Change
(b) Our Common Future

(c) Second Report on Climate Change
(d) Fifth Assessment Report

28 419 @ A o3 m 2, fad us & YA (A) a

79.

80.

81.

%2
ﬁ(ﬂ)
& HdT B

RFL-1 4

ul Y SR (R) &l T 2

FoA (A) : 2 9l & faeg # I qedd] TsE s |

£ e 31 Fmed 2 |

¥ tfererfies faw fd o 3 |
1 f3 T e 3 B wE) I F1 T HIA

30 (R) 3R @ & 37 (R), (A) I HEl

b) (A) 31 (R)SHI @&l & 7 (R), (A) =l Hal
ST 48] Hdl B

(c) (A) B3 B W (R) 7Teid 2

(d) (A}Tm%m‘@ R) Hal 2

dadi wél & el & e & Hed e & FhiieHe®
qeqi ot faear & ==l i e | fafefaa @8 #R-
Ush IAH HEcdqUl el 17

(a) 9rhfdeh GEIYA] w1 &

(b) TATEOT FeHul

ACT wrifa wa fasr

(d) AT 61 faeea va gadig

frefafiga d @ fem widla qua@aar 1 ggeft | ;

dn Wﬂwwmmraﬂxm%%%ﬁ%

uiifazifas wgca 1 @i 7

v(e)mmmmam

(b) TE.El. HahlfordT
(c) &1.1u4. ardheht
(d) dt.u4. fen

aﬁ*'%?ﬁﬂﬂﬁwﬁwiawawﬁa@ !
yftraed i sdfa 3 390 uniy e (eeied | !

SATIHUE) U T 3TY gs| 98 ufaded o

(a) Setary YiEdT 91 ygern ufddeq
V(DYW T T

(c) Faary] gitEda o gau ufdqaes

CRIEEIR RIEERILEEE

|
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AsserSon (A N 3 MR ARITIEION
0L CROESS ET AT DRSS RON

Chaia RS 0 the

Reasox (R) T
QrEcCOS O IS MSONRLONS Wrlier O e wals
of torrnies IS @ histoncsl namathe OF ther
VTS
Sead e et answer from the oooss gnen 1
Codss : |
g A am\Rigetuveand (R)sthe
Sormest 2xpEnaton of (A)

2" Bo (A" and (R are true but (R s not the
Sorrelt xpiEnaion of (A)

Sl s (R s Eise

d'A'sase (R s true

Dunng e mad 3C's Jecade of twenbeth cantury.
D2 negaave aspects of development were
csCssed at iarge. Which one among the
Dicwing w3as NOT such important ? ‘
: D3 ada00on OF NS resources l
» Environment DOSUTON
Poltcs and Devexcoment
Displacemen: and Rehabilitabion of masses ,

O o ‘w

C

Which of the oliowing Indian Archaeoiogists first
VSEC Bhimbeis Caves and dscoverad prahsione
sondicance of &S rock pandings ?

W

)

-

—

e

AMaaho Swaroop Vatsa

H D. Sankaia

V.S. Wakankar

V.N. Mishra

BSTUSSION ON qutamatue Develooment was

g a report on environment
3 ."\.':::m In ‘98. . That report was

-
—
g

-16-

RFL-1
3 AW AN L R IR AT 2
@aﬁm{mm:mﬁ: -
g ¥ =& @Wad ey

m{m SR ISIE
R 3R ZVE R 2

SR (R) : 1@ Wiaa! 3 2R3 ) Ja W IR
T 9SS QY R 3 R_ey :

I ¥R |

%:%%sﬁaaxféamféﬁmﬁ@l |

9 R W = 3 ¥ af S w9 AN

®: .

9 (A 3R (R A w8 T3k (R). (A) # & |
SRS a8 ;

® (A) 3N (R w8 ¥ H (R). (A) 9 & %l

STEYT T8 AT 8
() (A) ¥ } &g (R) I&d 8
(@) (A) 7S @ W (R) & 2

rf
!'J:,.

S99 TE S I F U & I iy & Iwas
T W ISR | 91 9 R | Aefaiga g a Se-a
TS 3N NEEQ 98 TG
(@) TS FEYST B O
tm*maww

‘/féffﬁ?-“%‘ RERE LS

(d) g = LRI Tq SCEl! g

§d ¥ ¥ 758 WRE™ WaSad 3 g

SR WINE3H & & @ 3N I§F N9NE
TARIES NS § i ¢
AE) QY IWEY 99

(b) Q’-‘:' 31, geiaa

(c) §1.T4. I

(d) St.@q. fasn

‘0

5
N

= L= e

¥4
-

)
en

2 .
I

81. ¥ 1087 ﬁﬁwmﬁwuawﬁﬁaqm$ |
q"mswnﬁqq{m U 9| (geaed | |
W‘f‘(?ﬁ&?ﬁﬁlaﬁﬂﬁé’ﬂ?ﬂ '
(3) SATY THEaT W YEST UiaSes
V‘plr'&*aiaxmqa(
(C) I INEFT W /0 wfadeq

CIRIEEIR G IE TR G |
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low the Jists
List— | Elati
(Harappan Site) (UT/State of india)
A, Bau 1. Uttar Pragesh
B. Manda 2. Jammu and Kashmir
C. Padri 3 Haryana
D. Hulas 4 GUjarat
Codes :
A B C D
(a) 3 2 1 4
(b) 2 3 4 1
(c) 2 “ 3 1
(d) 3 2 4 1

No. of cities in U.P. which are covered under the
‘Smart City’ Scheme
(a) 10

(c) 15

(b) 12
(d) 18

Consider the following statements and select the
correct answer using the codes given below :

1 The Sun temple of Multan is mentioned
by Hiuen Tsang, Abuzaiyid, Al-Masudi and
Alberuni.

2. The pilgrimage to Sambapur was
associated with Sun worship.

Codes :

(a) Only 1 is correct

) Only 2 is correct

>} Both 1 and 2 are correct

(d) Neither 1 nor 2 is correct

"he Atal Innovation Mission (AIM) Is a flagship

nitiative set up by

a) Ministry of Human Resource Development
0) NITI Aayog

c) Ministry of Social Just
d) Ministry of Science and Technology

ce and |mpowerment

entas representative of

WV 1® | S .
no of the following was Washington

abourers by Indian Governmentin the

Summit of | LO. in the year 1919 i o
/P. Wadia (b) N-M. o t

- U F. Andrews (d) Joseph B

RFL -1

82. ot — | 1 gt — 1| & gAfera Hifeg aun g S

ot — | ot - Il
(Z=01 g0 +4) (g TaeE / ME & T94)
A. ST 1. I NG
B. ATST— 2. H T HIHR
C. arsll 3. g
D. g 4. TSI
F2:
A B C D
(@) 3 2 1 4
b) 2 3 4 1
-2 4 3
d 3 2 4 1
83. 3I.9. % el Wl wgl S wire e A @ srr=aifed @
(a) 10 A 12
(c) 15 (d) 18
84. fyfefiga #uai w faam Hifse au fi= f@ =
F2 ¥ HEl IT gHT
1. gea™ % g3 A= &1 Ieci@ ZAE, IATESE,
Heuye! ag1 seanl 4 forar 2
2. QI IratcHd gAY ¥ Hrafd o |
Fe:
(a) Hhadt 1 G812
(b) Shaet 2 TE 2
(c) 1 3T 2 2 |8 2

Vw—)qehﬂfﬁzﬂél%

85. 3ted AarHy fiem (u.3rs.wn.) fa fawm € uqa
98 & 7
(a) HFE qE1Y s 9™
) Hifa smam
(c) T =19 ud Afyh1iEar v
(d) fasm wa qadih e

WG T g0 1919 § HE.UA.31. & aTi¥nres
geq § wegl @1 gfaffy & w9 9 fefafea o
g forg o T o 2
Vwﬁnﬁ.m&m

(c) €1.U%. uugs

86.

(b) TA.TH. I
(d) JEE dufeee
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87. The book ‘Silent Spring’ published in 1962 which
set the tone for an environmental movement in
the world, was written by

(b) Karl Marx

(a) Carolyn Merchant
(c) Rachel Carson (d) Rajgopalan

88. With reference to the Treaty of “Aix-la-Chapelle

— 1748" which of the following statements is/are
correct ?

1. The | Ca{natic War was ended.
2. The English got back Madras.

Select the correct answer using the codes given
below.

Codes :
(a) 1 only

b
(c) Both 1 and 2 Q) Mo

(d) Neither 1 nor2

89.  Which one among the following is NOT covered under

Integrated Child Development Programme ?
(a) Supplementary Nutrition

(b) Immunization

(c) Nutrition and Health Education

(d) Family Planning

90. Match List — | with List — Il and select the correct
answer using the codes given below the lists :
List - | List - |l
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4. 1861
Codes :
A B C D
(a) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d) 2 1 4 3
91. Match List — | with List — Il and select the correct
answer using the codes given below the lists :
List - | List - I
A. Indus Valley 1. Pastoral
Civilization
B. Later Vedic 2. Land Lordism
Society
C. Rigvedic Society 3. Agrarian
D. Medieval Period 4. Urban

Codes :

T Y

B
2
1
4
3

AWNAD
NNW-aD

(
{
(
(

QO O 0

18-

RFL <}

87. ¥ 1962 # Wi gEas Argei-< B fored fag
¥ qaiaefg sr<er & fd fieht, & aa® &
(a)ﬁ?ﬂqﬂal (b) Eb‘léﬂ'ﬁiﬁ

o) T F (d) i

frfefaga syt § @ SF-a1/4 98 8/8 ?
1. YU wATeh gg I qAI |
2. U Sl HgE YA: IIed AT |

88.

f= fod ™ e @ wé IR g |

%2 :

(a) &had 1 (b) et 2
‘/ce)uﬂtz-q’m‘f (d) Fa 17982

89. auf=d &l fasrE ufElsHr & s=ala f=fafea

WoORCRLL
(b) Frehrahtor
(c) 9MvT wE Ty finan
(d) gfEr fareE ...
90. ¥l - | = gt - Il | gafera Hfse aur gfeat &
= ﬂ'&@?ﬂﬂﬁﬁﬁfm:
qefi- | T -
A. R s arfufaam 1. 1876
B. ITét ug fufam 2. 1878
C. WA I== =g Hfufgm 3. 1869
D. wrdtg faams faede sfufam 4. 1861
L T
A B C D
@ 2 3 1 4
b 3 1 2 4
(c) 1 2 3 4
d 2 1 4 3
91. Fet — | W G — Il | giferg Hifse qon &
gt - | = - i
A. fay urd 1. SRR
B. 3 dfce wura 2. Sferdt
C. Fafes Fu 3. F9F
D. 5 &hldd B Uip)
Fe
B C D
 F e
b)y2 1 4 3
(c) 3 4 1 2
d4 3 1 2
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92. Who had merged Sikklm
(a) Lord Hastings

(b) Lord William Bg
() Lord Dalhoysije
(d) Lord Aucklang

Ntinck

Kanpur and Lyck
cities as per the

A
N =

Who among the followin
participated in the §
Conference ?

(@) M.K. Gandhi
(b) Sarojini Naidy
(C)
(d)

List — |
(Book)

A The Story of My
Deportation

5. Gita Rahasya

- A Nation in Making
Y India Wins Freedom

Codes
A B C D
3 4 1 2
4 2 1 3
. 4 1 3
4 B g

Pt Madan Mohan Mal

g Iﬁadﬁrs did NOT |
€cond Round Tape

| viya
Dr. Rajendra Prasad -
95, Match List - | with List — Il and select the correct
answer using the codes given below the lists : |
List - | List - 1|
A. Jajmani 1. North India
B. Bara Balute 2. Karnataka
C. Miras; 3. Mahara_shtra
D. Adade 4. Tamil Nadu
Codes :
A B © D
a) 1 2 3 4
D) 1 3 2 4
(C) 1 4 2 3
(d) 1 3 4 2

Vatch List — | with List — Il_and sel'ect mz ﬁgtr;gct
‘nswer using the codes given below -

N India 7

e

List -l
(Writer)

1. Surendranath
Banerjee

2 Maulana Abul
Kalam Azad

3. Lala Lajpat Rai

4. Bal Gangadhar
Tilak

(@) SH9T: 1951 3™ 1961 3
(D) shwer: 1961 3k 1971 &
LISHshAel: 1971 3k 1981 4
(d) F991: 1981 3 1991 #

Pt sl 3 & 9 R e v
T T8 o o7 -
(a) TH. &, Tt
?_rﬂf#ﬁqmg
(¢) ufed Wew migw wrerea
. Wl - | A g — 1 A gt Ffr e g &
:ﬁ%ﬁa@gﬁﬂﬁmﬁ: b
it - | e - 1)
A. ST 1. IW 91E
B. 91T &g 2. Fte
D. 3rsTe 4. firerg
L T4
A B C »p
@1 2 3 4
M1 3 2 a
)1 4 2 3
@1 3 4 .2
%. ~ | 1 gt - 11 A gafer Hif qen 3
Eﬁﬁﬁgﬁﬂﬁmﬁﬁq: o
T - | T
Eﬁ‘), g‘ﬂ;}ﬁ
A. TR 31T 1. Gty
1y feusm
B. Tiie1 & - WA 3 HeA
_ SR -
C. TR W A K 3. e sroma 11
D. 3fogan fom . &S TR forer
2
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97.

98.

99,

100.

101.

102.

The concept of ‘Marginal Man’ was propounded by
(a) RobertE. Park  (b) Robert Redfield

(¢) Louis Wirth (d) Louis Dumont

Who among the following established a modem | 98

armoury in Dindigal Mysore in 1755 ?
(a) Nanjraj (b) Haider Ali
(c) Devraj (d) Chikka Krishnaraj |

Which one of the following is NOT a major cause
of Wildlife Extinction ?

(@) Loss of natural habitat
(b) To make fire in the forest

(c) lllegal commercial trade of wildlife
(d) Fast pace of population growth

Given below are two statements, one is labelled q
as Assertion (A) and the other as Reason (R) :.

Assertion (A) : The British Government
Introduced different land revenue system in
different part of India.

Reason (R) : It led to create different classes in
Indian peasantry.

Select the correct answer from the codes given |

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

o7, wayem T sfRy (AT A7) H FHG

89.

wferare feman ]
(a) Tad §. U (b) T TEHITS

Prafofas § @ &9 1755 § fefema aq # ¢
syfie TEAmTR 6 T 6 ot 7 |
BEEUE by &t et
(c) caud

ﬁqmﬁaﬁq-mwmmﬁrﬁ*w{

&1 Iq@ SR TE 8 7

(a) WTHfdeh TG &I T B

(b) STt H 3T W AT

(c) IR &1 HaAY arfvrfegs SN

s i i gfe |
100. 9% @ Fem A M £, Rl v F F (A) 3|

G W B (R) FET T R

&Y (A) : fafew TR 3 YRE & 3137 W
U V-TSTEa I T sFawdT An] i ot |
HRO1(R) : 398 WA fpamt § avem-s7em a1 &9
T |

A= fed @ e # | @ 3w g |

L T4
A (A) 3 (R) T 7@ & 3 (R), (A) 1w

101.

102.

In August, 2020 Railway Museum in India was
dedicated to the nation at which of the following |
places ?
(a) Hubballi (b) Mysore
(c) Silvasa (d) Chittaranjan
Consider the following text and arrange them in
chronological order : |
1. Fatawa-i- Jahandari
2. Prithviraja-Raso
3. Kitab-ul-Hind
4. Tabaqat-i-Nasiri
Select the correct answer from the codes given
below.
Codes : .
(@) 2,3,4,1 (b) 3,1,2,4
(C) 41' 3' 1! 2 (d) 3! 21 4! 1
-20-
= L iy ._:- —-:...F-*;“um ._ ——

ST AT 8

(b) (A) 3R (R) Q! w&l € 9 (R), (A) F T&
SARSAT T8 BT B

(c) (A) @él 2 9 (R) Terd 2

(d) (A) Teid 2 g (R) |&1 &

WRd | 3T, 2020 # frafafes e § & g
R A T T 1 wHita faar mam 2

(a)
0 10

ﬁmﬁfﬁaﬁ%ﬁmﬁaﬂﬁﬁqaﬁtmm-

e $if .
1. Baai-U-Sefer
2. YT -TE)
3. forame-3er-fae
4. qEHTa-U-ATRYH

RFL§Z|

104.

105.

106.

107
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105

104.

(a) Saudi Arabia '
(b) Kuwait

(c) United Arab Emirateg

(d) Qatar

seized the fort of Golkonda in 1687 2
(a) Abul Hasan Qutb Shah

(b) Sikandar Adil Shah

(c) Ali Adil Shah II

(d) Shayasta Khan

Which of the following neighbouring countries of
India has banned free internet for social media

in July, 2020 ?
(a) Nepal (b) Bhutan

(c) Myanmar (d) Bangladesh

Which of the following statement/s is/are correct ?

1. Akbar tried to fix the age of marriage for
boys and girls.

2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.

Select the correct answer using the codes given

below.

Codes :

1@) Only 1 (b]-;.,Oﬂ!y 2 :

(c) Both 1 and 2 (d) Neither 1 nor
4

Which of the following stateme

'deas Summit, 2020’ is/are corref:t . iness

1. It was organised by US - India Bunsm
Council virtually on 22 July, i

> The theme of the Summit was ‘Empowerng
India’. .

Select the cofrect answer ff?m the codes given |

below

{udes:

9) 1 only (b)zoniy 1 nor 2 |
Both 1 and 2 (d) Neither 21-

nt/s about ‘India |

RFL - |

103. 3, 2020 & Fr=fefaa & & HH-H el faeH

1 YR HW AT TEe e UE BT 7
(a) §Hhel A&
(b) Fad

\/(z)'ﬁ:gﬂﬂmaqtﬁrm

(d) el

104, 1687 i ww 3T I Meguel fhat T ATHN

fowa, 3@ wwa ieguer w1 e HIF AT 7

(a) AYA 6T Hd W@
(b) Tz anfea e
(c) 3reht 3nfea wz |l

) T @

105. WRd & Fr=ferfaa ggidh 29l 4 | fraa Heg, 2020

i Hiorer ifewn % e qud gede dar W ufdsry
AT R 7
B ELIS

J&)Wﬁﬁ

106. fr=fefad sual § 4 SH-T1/4 98 2/ ?

1. et 4 dghi IR Asfhal & faarg 1 3y
fauifita &3 &1 wam e 9 |
2. 3ehe 4 cisfhdl =l ATUTTEH & caE & 31T
@ § soor 4 faar =60 6 w@aEar § o
4 fd ™ e w1 WA = e I R |
R ﬁ
1 (b) %adt 2
(c) 13 2 i (d) AA 178 2

107. 3foean amsfean wftve, 2020' % wway ¥ fimfafga

HYA/FHYA | F HH-91/8 GE 2/B 7

1. 38 JHTEHI-WRAd SR IHEE gRI &a:
22 9§, 2020 i e faran |

2. T fawg (W) ‘SR 1 guifaaantor o)

2 fed M@ fe @ @& I AT |

R |

DEES (b) Shae 2

(c) 1T 23l (d) Ad 198 2

------
RN
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108.  Match List — | with List - Il and select the correct
answer using the codes given below the lists -

List - | List - II
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
list of main events
and firmans
C. Mushrif 3. Look after the Jagir
and Salaries
D. Vakianvis 4. Examine the income-
expenditure of State
Codes :
A B C D
(@) 2 4 1 3
(b) 3 4 1 2
(c) 1 3 2 4
(d) 4 1 2 3

108.  The Uttar Pradesh Cabinet has approved on 2gth

July, 2020 to establish a National Law University at
which of the following cities ?

(a) Kanpur (b) Lucknow
(c) Gorakhpur (d) Prayagraj

110.  Which of the following is NOT correctly matched ?
(a) Shaikh Moinuddin Chishti -

Ajmer
(b) Shaikh Burhanuddin
Gharib - Daulatabad
(c) Shaikh Mohammad
Hussaini — Gulbarga
(d) Shaikh Nizamuddin
Auliya - Multan

111, Indian Minister of Youth Affairs and Sports

announced on 25 July, 2020 that in 2021 fourth
Khelo India Youth Games' will be hosted by

(a) Haryana (b) Uttar Pradesh
(C) Karnataka (d) Maharashtra

112, Which of the following Mughal period canals, was

constructed by restoring the Rajabwah of Firuz
Shah ?

(a) Shekhnu-Ni (b) Shahab Nahr

108. @—lﬁ@—llﬂgﬁ%ﬁﬁmaﬁtm'_ H
FL@' -1 "ﬁﬁ - N j
(tfernril) (fafem =d=3) Bl

o -
) §

'R
RFL < i}

i 4

-

A TEE-T-T 1. FHETeE F Ee F g 0|
B-W 2.gg@m3ﬁﬂwrﬁﬁ _'

g T '
C. qufts 3. IR 9 9a4 &1 @
D. aframda

4. TSF 6! HI-=99 &
e e X
¥ i
A 4

(@) 2
(b) 3
(c) 1

B C D
4 1 3
4 1 2
3 2 4
@ 4 1 2 3

109. I wew whmves 3 29 S, 2020 1 Arsffaa
mﬁﬂ%aﬁn@aﬁmﬁwﬁmﬁm
1 A TR R -

oAD) TS

(@) X
(€) TR (d) TS

110, ﬁtrﬁaﬁaaﬁﬂﬁq—maﬁ@%aqﬁ%?
(a) 1@ wiFE Fodh - I

(0) ¥ TEEA T~ reqrare
(c) Y@ Hgmwe E&H - e
O e Tremd st _

(¢) Nahr-i-Bihisht (d) Nahr-i-Agra
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RFL -1

13, fefafa § & S-a1 wida Gearet o , =

hecame country’s fi
or? NASDAQ bri!‘lflbo;::\f&r footbal Club to feature ¥ 3
N S in New Yorics g9 R R Je (NASDAQ) & faeiars
on 297, S0)'¢ W;Sqm W 29 JETE, 2020 H TE WIed B qTAT b
(a) East Bengal PEATT FId &A1 7
(b) Churchill Brothers (a) 3= |TA
(c) Mohan Bagan V::; ﬁ wed
d) Bengaluru Footba (&7 §TTr
(d) Il Club (d) ETT® oA T

114. Who among the following was the author of the

114, frafafea § @ 7 frae-u-A@’ T J&5 H

book ‘Kitab-i-Nauras' ? e .
(a) Ibfahlm Adil Shah || @ i
(b) Ali Adil Shah safen e
c) Quli Qutab Shah (b) 3cht Jice TR

(c) Feft Fgw e
(d) Akbar Il e -

115. wia $ el Fram Yo Preferfea fe @ =

115. The first ‘Kisan Rail’ of India started its journey on
¥ e 8 37TEd, 2020 1 G AT W Hi 7

gth August, 2020 between which of the following

two stations ? (a) TfvrETETE 3R EEST

(a) Ghaziabad and Howrah . \_AD) adTe! (HBRISE) AN ST (feanr)
(b) Devlali (Maharashtra) and Danapur (Bihar) (c) TR 3k 7 Rgh

(c) Nasik and New Delhi (d) T 3R STEEET

(d) Nasik and Ahmedabad

116. TR 2w % Preferiad fred # & et 2018 4 ®iE

R arELE S M

6. In which of the following dis

solar power plantwas established in collaboration b3
with France in 2018 ? e (a) ST o)
(a) Agra (b N . (c) Zafen T
(c) Deoria (d) Mirzapur
comecty matched 7| 117. frerferfga # @ FH-w @ gafea @R 7
7. Which of the following is NOT Piace) g;:ﬁm) (€uT)
S it : (a) e geH, 2020 ~ &g
(a) (Eal:tnA':ia)Summit. 2020 . ~ g::::ore (b) Sf1-20 THTH, 2019 ~ 3G
(b) G-20 Summit, 2019 : Blanitz V@«wﬁq e, 2019 - faf
(c) G-7 Summit, 2019 o " Bangkok (d) $& e F= e, 2019 - o )
d) East Asia Summit, 2 PR —
118, Al 20207, I S
8. H Ramsar SitBS' were added " qr1se’ o wferer feman a2
5 How many more ' -
Uttar Pradyesh in January, 20207 V(a‘)'S - ?2
b) 6 (c) 9 (d)
(@) 3 (b)
©) 9 @ 12 e | 119 W%ﬁmﬁﬂﬁﬁuﬁiﬁﬂﬁmﬁ;ﬁg-wmﬁ
' India i qaelt o -l Igrerd WO Tl 7
. gtates Of T the
> In which of the f0||0":'"wgaf 3tarted during @y IR o (b) WENISZ
first-ever E-Lok Adalat (c) SR (d; fagr

COVID-19 period ? (b)
(@) Uttar Pradesh (d) gihar |
() Chhattisgarh i B

"y .
--------
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120.  Which of the following tribes is NOT the native to the 120. fr=fafaa swrfa) *ﬁ H ﬁqﬁaT{:ﬂ T2 7 2 126 an:
Andaman and Nicobar Islands of India ? 3N freplan g ngl ol T&'ﬂ'ﬂﬂ | | .-_-:'
(a) Halchy (b) Rengma AT BT, (b) ¥
(C) Onge (d) Shompen (€) 3~ = X A
[ e <l U 2018 B
121.  With reference to the detailed report of Tiger | 121. YR T gy EJ,?ﬂé 2020 9 aTEﬁ ! 8 |
Census 2018 released by Government of India 9 A fereqd wfddea & a=gy d f=ferfiag P C.
In July 2020, which of the following Statement(s) . o, & | D.
Is/are correct ? A /B i HEﬁ. ¥t %3
1. India has 70% of total globa| tiger's 1. ¥Rd ¥ favg 6 <1 ST SIS H 70% 2 | e
POpulation. ST 30° g9 3YIY] &
2. Nearly 30% of India’s tigers Jive outside 2. T % \ e (a)
tiger reserve. S8 &d 8 |
Select the correct answer from the codes given e fed 3 %2 H Tl I gfu | (b;
below. | (C
%e
Codes : 3 ¥ (d)
(@) 1 oniy (b) 2 only (a) ‘ (b) 2
() 1and 2 both (d) Neither 1 nor 2 (c) 13 2 i AT AT E 2 127. Wh
| stal
122. Mich of the following rivers is a Trans-Himalayan 122. frafafaqg 1 3 HH-91 U A<t femrerg-un | 202
river ? (gra-feamera) 761 2 - | (a)
(a) Jhelum (b) Sutlej (a) ey M) "aerT (C)
(c) Ganga (d) Ravi (c) T (d) T
128. Giv
123.  Which among the following hosted Global | 123. fy=fefag 4 @ EZERSIET A gryery <l b
Vaccine Summit’ on 4th June, 2020 ? 4 3, 2020 FI gsar € ¢ :fsé
(@) United Kingdom (a) YA132s foprgn Ras
(b) United States of America (b) WIFT U=y 37ifren | cott
(c) India () YRd , prot
(d) China (d) Sele
oelc
_ ; : Y - ; CDE
124, Which of the following is NOT correctly matched ? | 124. Mg § | $q-q Hel gufeq TEiE 7 ' (@) |
(Tribes) (Location) (St (sraterfy) T
(@) Angamis -~ Nagaland (@) - AU (b)
(b) Birhors = Jharkhand (b) feEn - SREUE C
(c) Khas = Arunachal Pradesh (c) @H _ R \C) (
. 5o (d) (
(d) Todas = Tamil Nadu (d) 2rer - aftrere
125, ‘Sarthak’ launched in August 2020 by Ministry of [ 125. a1 AT, MR §hR 2 STTET 2020 5 yresy fiyy lnaf
Defence, Government of India relates to whi T’ ] )
—p S 1o which T ot & & frm qafyg @ o Rese
of the following * s
(a) Lkl Cov
(a) Smart Bomb
(b) Rocket Launcher LRy U yage Q) N
(€) Offshore Patrol Vessel| (€) St aryeh Vg (D) K
(d) Light Combat Aircraft (d) &oeh A% famrg
() N
-24. (d)
B
"l D

¥ .
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21 gyl A T YT

120

127

"

Match List — I with 1 :

answer using the C;Zts“g:l and selecy S
List - T -
(Lake)l i :W the lists

A. Sala Lake : (Location)

B. Badkhal Lake ::Jnachal Pradesh

C. Loktak Lake 3 Ma:"ana

D. Kaliveli Lake 4 Tamil|pur

Codes : Nadu

el B c O

(@) 1 2 3 4

(b) 2 1 3 4

(c) 1 3 2 4

(d) 1 4 2 3

(a) Gujarat
(c) Punjab

Given below are two statement |
S,oneis |
as Assertion (A) and other as Reason (Ra)?elied

Assertion (A) : Ahmedabad IS th
g e lar
of cotton textile industry in India. gest centre

Reason (R) : Ahmedabad is located in Major

cotton growing region of India, so it has no
problem of raw materials.

t?elhc_u::t the correct answer from the codes given
elow.

Codes :

(@) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(C) (A) is true but (R) is false
(d) (A) is false but (R) is true

On 27 July, 2020 Prime Minister of India virtually
inaugurated three new Indian Council of Medical
Research (ICMR) high-end testing laboratories for
COVID-19 test at which of the following places ?

(@) New Delhi, Kolkata, Chennai
(b) Kolkata, Noida, Mumbai
(c) New Delhi, Kolkata, Mumbai
(d) Chennai, Delhi, Mumbai

RFL - |
126, -1 1 geht - 1 @ e Hifvre 7 gfei
g - | T - i
(3ften) (srafeufa)
A. |1 3t 1. 3UTEE Wew
B. ¥5@d 3ite 2. gfemm
D. wreftaeft sfiw 4 dfiyarg
%
A B C D
A4 1 2 3 4
(b) 2 1 3 4
c) 1 3 2 4
(d) 1 4 2 3

127, ﬁﬂ%ﬁaaﬁﬁ%ammﬁ*wg-%qm%%z
HTS' AT & IR af 2020 & fapr 2
(a) TR Wokic
(C) 93T (d) TS=H

128. ﬁ%awﬁan&%,ﬁqﬁqmaﬁwwmﬂ
T ! H (R) Fgl T R -
I (A) : HEIIETIE WRA | Gl 955 32T +7 g&d
T H3 R |
HT(R) : HEAENE WRA & W H976 IqmeT &5 §
e 2, safor & et wre © 9 Twen 3@ 2

A2 f@ ™ gz @ 98 3w g |

F2

T (A) 3 (R) 2w # sk (R), () 1w
SARSAT Al 2

(b) (A) 3N (R) TH1 ¥t € W (R), (A) $ &
SRS F81 HT B

(c) (A) ®&l 8 T (R) Tera 2
(d) (A) Ted 2 fg (R) &t 2

129. 27 JeT%, 2020 1 WA F W Y Arafifea § 3
fre @M W Rfee-19 wham ¥ S dw 3w
ffhean srgmum ofteg (anddt wmam) s=a-ii
TIETOT AT T TGl g e 2
(a) 7% foeehl, e, S=
(b) IeTehTa, FregT, yrad

ey 7§ feweht, Fremma, qrad

W' feeft, grasd
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i
130. Which one of the following is the youngest
mountain range of India ?

(b) Aravalli Range

(a) Himadri Range
(d) Vindhya Range

(c) Western Ghat

131.  Which of the following Airports in Uttar Pradesh
has been granted International Status on
24t June, 2020 by Union Cabinet of India ?
(a) Agra Airport (b) Prayagraj Aitport
(c) Gorakhpur Airport (d) Kushinagar Airport

132. Match List — | with List - |l and select the correct
answer using the codes given below the lists :

List - I List - Il
(National Parks) (States)
A. Indravati 1. Jharkhand
B. Mollem 2. Haryana
C. Kalesar 3. Goa
D. Betva 4. Chhattisgarh
Codes :
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 1 3 2
(d) 3 4 2 1

133. Which of the following countries was NOT elected
in June 2020 as a non-permanent member of

United Nations Security Council for the year

2021-22 ?
(a) Ireland (b) Norway
(c) Mexico (d) Canada

134. Which of the following are NOT correctly matched ? |

130. ﬁmﬁ“{ﬁﬁﬁﬁﬁaﬁq-xﬁmﬁqﬁwuﬁaaﬂﬂap
(a) femrst Aofi (b) e At
Wm (d) fmer=e Aof

131. mm%ﬁm%%ﬁﬁﬁ%amméaﬁw
%Wﬁﬁmﬁﬂﬁjomﬁﬁﬁ@ﬂaﬁ
wfgpa fea 8 7
(a) AT EATS IHF (b) SATTIS EATS HF

(c) TG FET$ HF ywmw
132. r;aﬂ-wﬁqa‘?-uﬁgfr%’aﬁﬁquﬁa’f%

3 22 T $e A gE IW I :
et - | qen - |
(g IeA) (T3)

A. g=gradt 1. FREVS

B. thFéu\ 2. gf@mn

C. da®l 3. Tl

D. ddal- 4. BAETE

- T

A B C D
e 4 3 2 1

(b) 4 2 3 1

(c) 4 1 3 2

(d) 3 4 2 1

133, fr=fafgs & | foeg 2w &t ad 2021-22 % fofe
HgFd TS GEa g & ey 99 & ®9 ° 94
2020 " € g T R 2

(Mineral) (Mining City)
1. Copper - Chitradurga
2. Iron ore - Ballari -
3. Manganese - Bhilwara '
4. Bauxite - Katni '
Select the correct answer from the codes given
below.
Codes :
(a) 1and 2 (b) 2and 3
(c) 1and 3 (d) 2 and 4

(a) HATATE (b)
| (e} ufegs! (d) FATST
134, Freforfed 9 @ s-w1 @& gafaa @i R 2
(@) (I VTR)
1. el
2.@33!@/‘—. ﬁ
3. Hrts - freraren
4. STFETEE e
A G2 ™ e | wt 3w g |
¥
(@) 13K 2 (b) 2 3 3
(c) 13K 3 (d) 2 3 4

-26-
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138, Consider the following tributaries of River Yamuna

Cabinet of India on 29th yyjy 2020 -

1. It was drafted by a Committe
Dr. K. KEEtUFirangan. € headed by

which has been followed since last 38

(c) Both 1and 2 (d) Neither 1 nor 2

136. Valley of Kashmir is situated between
(a) Kangara and Dhauladhar ranges
(b) Pir-Panjal and Himadri ranges
(c) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

Which of the following Indian States/Union
Territories launched Electric Vehicle Policy on
7th August, 2020 ?
(a) Madhya Pradesh
(C) Delhi

(b) Uttar Pradesh
(d) Tamil Nadu

and arrange them from West to East .

1. Betwa

2. Ken

3. Sindh

4. Chambal |
Select the correct answer from the codes given

:-..-'E';L:"v"i"

Codes :

a)4 3. 1and?2
c) 3.2, 1and 4

(b) 1,2,3and4
(d) 2,31 and 4

A Which of the following Indian Fau.nda‘tions has';
received the Food Vision 2050 prize in AUgus

135. Consider the following statement
- . S
National Education Policy approved %3"1.:'32‘2

2. Itwill replace the previous Education Policy

years.
S_e!ec:t the correct statement(s) from the codes
given below.
Codes :
(a) 1 only (b) 2 only

—l

=)

F
oyt

. -~ ¥ f’E‘
e RFL - |

135. 20 T, 2020 H WA F Fad FHAHEST @
ﬁﬁqmﬂimﬁ'ﬂﬁlmﬂﬁr%wuﬁ
FyA1 1 famm Fife
1. 98 3. & w&{ﬂﬂﬂﬁmwmﬁrqﬁﬁl

w2
A3 R T T2 § g Fg/FA B AT

F2:
ey e 1 (b) e 2

(c) 13 2gM (d) Fa 178 2

136. R °idt fua 2 |
(a) FiTer 3 demr wda- ARt % 99
\_(by TR-Tarer 3R R gefa- ARt & 7
(c) TERE 3R demR sda-afEl & 7
(d) fr-daer 3k wENE Tda- AR % 7ed

137 Befifye ¥ & fF og/99 Ts98E g1 7 3, 2020
%! forge wifera amew Afy A Geon K TR 7

(a) AW (b) I W
(o) Rt (d) afrerTS

138, AT 7 i Prferias wers Afedl o fa=r Hive
3k 3% ofRm & gd it 3R N | afead HifT :
1. sqa1 |
2. HA |
3. forw -
4. Svad |
2 R ™ e @ & W AT |
;?4.3,131112 (b) 1,2, 3 3R 4

(d) 2,3,13NR 4

Je)‘3.2.13iﬁ'{4

139, frfefaa & @ fora WRET $1—3v8yH A 37T 2020

i %z faw= 2050 &R S foRan 7

020 ? (a) &13A
8) Smile Foundation by AT HIIUSYH
)J ::jandi Foundation (c) T HIIVEYH
r ani Foundation :
) Reliance Foundation (d) Fremag wRveTH
b * FH-T1 TH FE FHed TGI8 7
ich one of the following is NOT correctly | 140. frfafiga & 4
e 2 Of the following | ) (eire- )
gountry) Iron-Ore [
1 Lroducing Area) (a) FTEE Wﬂ“ffm
gkhstan - Karaganda (b) ZehA - foamw
i . . ﬁ”voy Rdc;’g (c) ! - FRAvE
gy ~ ormen : __
s - Pyrenees (d) S AT
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141,

142.

144

145.

143.

First ever containership from Kolkata Port to | 141.
Agartala was sent through which one of the

following Ports of Bangladesh in July 2020 ?
(a) Benapole

(b) Maloti

(c) Payra

(d) Chattogram (Chittagong)

In which of the following regions of the world, the
production of citrus fruits is well developed ?

(@) Monsoon regions

(b) Tropical high lands regions
(C) Mediterranean regions

(d) Equatorial regions

Who among the following has been awarded with | 143.

the ‘Life Time Excellence’ Award in Earth System

Science in July 2020 by Ministry of Earth Sciences,
Government of India ?

(@) S. Suresh Babu
(c) S. P. S. Kushwaha

(b) P. L. N. Raju
(d) Ashok Sahni -=

Match List — | with List — Il and select the correct | 144.
answer using the codes given below the lists :
List — | List - li
(Tropical cyclones) (Country)
A. Baguios 1. Australia |
B. Hurricanes 2. China
C. Typhoons 3. Philippines
D. Willy-Willies 4. United States
of America
Codes :
£ B C D
(a) 3 4 1 2
(b) 3 4 2 1
(c) 2 3 4 1
(d) 2 1 3 4
With reference to Eutrophication, which of the 145.

following statement(s) is/are correct ?
1. It decreases uissolved oxygen of water.

2. It is a phenomenon of nutrient enrichment
of a water body.

Select the correct answer from the codes given
below.

Codes :
(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2 |

142.

(a) SATIIEA
) HTETet
vﬁ) Ly
(d) g (Faemin)

fyva & Frfafiaa wewt # @ frad @2 ® %=
&1 IeaTe wgd faenfaa 2 ?
(a) WHEH W

(b) IWTRfeE-HE Ieayf W
AC) MHEIETTE WeH
(d) YTeRE wew
gedt fasma daTer, MRa TR g Jers 2020 ®
frferfiaa & @ ol get someht forem @ e
2130 AT JEERR WeH fohan R 7

(a) . QU A, AB) @ T W Y
(c) vH. 91, Uq. $vETEl  (d) FeS Tl

147.

148.

gt - | I gl - 1| @ gufea $Hifae g giea &
et - |
(IwTwRieassia wsham)

gt - I 149
(Fm)

- Areefern

2. 919

. Teferars=

Y TSy I

130.

(@) 3

AT 3
(c) 2

(d) 2

g (FErERIE) & wraey o frafifes § @
HH-H1/8 FuA | 8/E ? |
1. 98 9 ¥ Yferd efioe & e R |
2. 98 9o T ¥ dives qeg gad @ wem @ | ol

- W asabsbD
W aN=20

D
2
1
1
4

P e 4 ST DA -

14 fed ™ %z @ wd I ghw |
T2
(a) Faa 1 WOk P

(c) 1 aur 2 2l COELERER W
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| :-: 40 muowmg coasts OfAUStr

B Arraﬂge the fO"OWln

143 The movement of nutrient elemen

Egnar“ng range is Situate alon
alig 9 J Which, of th

tm Southern Coast

) Eastern Coast

.IJ" gouth-Western Coast

_ 9 evengs ;
srder of their mmmcemenr .ts 0 °h"0nnlogica|

| Project Tiger

|. Project Elephant
1| Wildlife Protect Act
V. Biological Diversity Act

usin
o J the coqeg given
Codes :
@) 1.|||.I |:: :::’{ (b) u, IV, Iy
(c) |l AL (d) i, v M|

_ : 8 Ocean ¢
associated with Indian Ocean 7 e

(a) Florida current (b) Canary current
. n
¢) Agulhas current (d) Kurile current

ts through the

vanous components of an €Cosystem is calleg

a) Bio-geo-chemical Cycle
0) Bio-geological cycle

°) Ecological succession
J) Biological cycle

190. Match List — | with List — Il and select the correct

@iswer using the codes given below the lists -

List — | List -l
(Ethnic Group) (Country)
A Jews 1. Egypt
8. Teda 2. Iran
C. Beja 3. Libya
D. Lur 4. |srael
Codes -

A B C D
a) 1 2 3 4
4 4. 9 B
4 1 3 2
4 3 1 2

— -

" RFL - |
S .
mmﬁfﬁ?@m%ﬁn&maﬁﬂﬁm
(a)m-—t@;ﬂ
AR el o
(©) T 7
(G)Wﬂ-qﬁ“ﬁmﬁm
147 %’lftﬂ?l
Lo
Iy ﬁmm%wﬁ
I.Fhﬁazagm;
. Mgz
Ill.anliﬂaq'{maqﬁﬁm
V. 39 T sy
ﬁﬁaﬁﬁzﬁwaﬂtgﬁm
LI,y (b) 11,1, 1v. 1
AT 1 11 1y (d) 1, v, 1
148 Freferfes § 4 g3
5 L 1 HEETRE vy fame waramm
(a) wefter umg OEZ ik
(C) ITR™ Hmy TS um
149, ﬁqﬁiﬁ:ﬁaﬁm%ﬁﬁ:mﬁwm
TS T TRAT e 2
(@) -y -wrE 5%
Sa-yfifs
) IRTEfaS v
L/:ce:)ﬂ'q‘h?ﬂa
150. S - | = gt - 11 A gt B aen &
9 2 ™ g2 A W I g - N
-1 qHt - ||
(Teimelta wgg) (39)
I
| B C D
2 3 4
1 2 3
4y 1 8 2
| 3 1 2
\
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